Year 5 Homework, Summer Term Week 2 4

/ Maths: Speedy Six \
1. On a coordinate grid point A is at (5,2) but it is / } /

moved two squares to the left and one square
down. What are its new coordinates?

By how many sixths is 2/3 greater than ¥2?

By how many hundredths is 9.12 less than 10?
Find 60% od £4.50.

10 muffins cost £6.28. Find to the nearest
penny the cost of one muffin.

What fraction, in its simplest form, is equal to
15%?
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Quick Comprehension: Complete the comprehension. Children should allow themselves one minute to
read the text, and five/ten minutes to answer the questions. Some of the questions are quite tricky, so
don’t worry if you have to talk them through with an adult.

/ Spellings \

Extension

You have finished the list of tricky words set
by the Government so now we are going to
do something a little different.

Optional Maths Extension:

One bonus house point available

We would like you to develop your word Spot Millie’s mistake.

knowledge even more. Look up the

following words and write a sentence using 6 3 2
them. — + _+ =
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What should the answer be?

Homework is due in on 3™ May



